

Several Turán-type inequalities for the hypergeometric superhyperbolic functions

Lu-Lu Geng^{1,2}, Xiao-Jun Yang^{1,2,3†}

1. School of Mathematics, China University of Mining and Technology, Xuzhou, Jiangsu, 221116, P. R. China.

2. State Key Laboratory for Geomechanics and Deep Underground Engineering, China University of Mining and Technology, Xuzhou, Jiangsu, 221116, P. R. China.

3. Department of Mathematics Faculty of Science King Abdulaziz University P.O. Box 80257, Jeddah 21589, Saudi Arabia.

Abstract: In this paper, we investigate some Turán-type inequalities for the hypergeometric superhyperbolic sine and cosine functions associated with Kummer confluent hypergeometric series of first type.

Key words: Cauchy-Bunyakovsky-Schwarz inequality; Turán-type inequality; gamma function; beta function; Kummer confluent hypergeometric series of first type.

Mathematics Subject Classification: 26D07; 33C05; 33C15.

1. Introduction

It is well-known that Turán-type inequality plays an important role in mathematics and physics [1, 2]. Many experts have done considerable research on Turán-type inequality [3–10].

Throughout this paper, let \mathbb{C} , \mathbb{R} , and \mathbb{N} be the sets of the complex, real, and natural numbers, respectively. The generalized Cauchy-Bunyakovsky-Schwarz (CBS) inequality is defined as [11]

$$\left\{ \int_a^b [\alpha(t)]^\eta [\beta(t)]^\eta [\gamma(t)]^\eta dt \right\}^2 \leq \left\{ \int_a^b [\alpha(t)]^{\eta-r} [\beta(t)]^{\eta-s} [\gamma(t)]^{\eta-o} dt \right\} \left\{ \int_a^b [\alpha(t)]^{\eta+r} [\beta(t)]^{\eta+s} [\gamma(t)]^{\eta+o} dt \right\}, \quad (1)$$

where $\eta, r, s, o \in \mathbb{R}$, α, β , and γ are real integrable functions.

For $p, q, z \in \mathbb{C}$, $k \in \mathbb{N}$, $\{\Re(q), \Re(p)\} > 0$, and $\Re(q) > \Re(p)$, Kummer confluent hypergeometric series of first type is given by [12, 13]

$${}_1F_1(p; q; z) = \frac{\Gamma(q)}{\Gamma(p)\Gamma(q-p)} \int_0^1 t^{p-1} (1-t)^{q-p-1} e^{zt} dt, \quad (2)$$

where

$$(p)_k = \frac{\Gamma(p+k)}{\Gamma(p)}, \quad (3)$$

is Pochhammer's symbol (see [14], p.8-9).

In this paper, it is important that we prove the following theorems:

[†]Corresponding author E-mail: gengllcumt@163.com

Theorem 1. If $p, q, z \in \mathbb{C}$, $\lambda \in \mathbb{R}$, $\{\Re(q), \Re(p)\} > 0$, $\Re(q) > \Re(p)$, $p > |\chi|$, $q - p > |\varpi|$, and $|z| \leq 1$, then

$$\begin{aligned} [{}_1\text{Supersinh}_1(p; q; \lambda z)]^2 &\leq \frac{B(p - \chi, q - p - \varpi)B(p + \chi, q - p + \varpi)}{[B(p, q - p)]^2} \\ &\quad \times {}_1\text{Supersinh}_1[p - \delta; q - (\chi + \varpi); \lambda z] \\ &\quad \times {}_1\text{Supersinh}_1[p + \delta; q + (\chi + \varpi); \lambda z], \end{aligned} \quad (4)$$

where the hypergeometric superhyperbolic sine based on Kummer confluent hypergeometric series of first type is defined as (see [15], p.257)

$${}_1\text{Supersinh}_1(p; q; \lambda z) = \frac{\Gamma(q)}{\Gamma(p)\Gamma(q-p)} \int_0^1 t^{p-1}(1-t)^{q-p-1} \frac{1}{2}(e^{\lambda z t} - e^{-\lambda z t}) dt. \quad (5)$$

Theorem 2. Let $p, q, z \in \mathbb{C}$, $\lambda \in \mathbb{R}$, $\{\Re(q), \Re(p)\} > 0$, $\Re(q) > \Re(p)$, $p > |\psi|$, $q - p > |\beta|$, and $|z| \leq 1$. Then

$$\begin{aligned} [{}_1\text{Supercosh}_1(p; q; \lambda z)]^2 &\leq \frac{B(p - \psi, q - p - \beta)B(p + \psi, q - p + \beta)}{[B(p, q - p)]^2} \\ &\quad \times {}_1\text{Supercosh}_1[p - \vartheta; q - (\psi + \beta); \lambda z] \\ &\quad \times {}_1\text{Supercosh}_1[p + \vartheta; q + (\psi + \beta); \lambda z], \end{aligned} \quad (6)$$

where the hypergeometric superhyperbolic cosine via Kummer confluent hypergeometric series of first type can be expressed as (also see [15], p.258)

$${}_1\text{Supercosh}_1(p; q; \lambda z) = \frac{\Gamma(q)}{\Gamma(p)\Gamma(q-p)} \int_0^1 t^{p-1}(1-t)^{q-p-1} \frac{1}{2}(e^{\lambda z t} + e^{-\lambda z t}) dt. \quad (7)$$

The aim of this paper is to study of Turán-type inequalities for the hypergeometric superhyperbolic sin and cosine functions via Kummer confluent hypergeometric series of first type.

The structure of the paper is as follows. In Section 2, we prove Theorem 1. In Section 3, we give the proof of Theorem 2.

2. Proof of Theorem 1

Let us prove Theorem 1.

Let $\alpha(t) = t^{p-1}$, $\beta(t) = (1-t)^{q-p-1}$, and $\gamma(t) = \frac{1}{2}(e^{\lambda z t} - e^{-\lambda z t})$. Then (5) can be shown as

$$\begin{aligned} \frac{\Gamma(p)\Gamma(q-p)}{\Gamma(q)} {}_1\text{Supersinh}_1(p; q; \lambda z) &= \frac{1}{2} \int_0^1 t^{p-1}(1-t)^{q-p-1} (e^{\lambda z t} - e^{-\lambda z t}) dt \\ &= \int_0^1 \alpha(t)\beta(t)\gamma(t) dt. \end{aligned} \quad (8)$$

According to (1), we have

$$\begin{aligned} \left\{ \int_0^1 t^{\sigma(p-1)}(1-t)^{\sigma(q-p-1)} (e^{\lambda z t} - e^{-\lambda z t})^\sigma dt \right\}^2 &\leq \int_0^1 t^{(\sigma-r)(p-1)}(1-t)^{(\sigma-s)(q-p-1)} (e^{\lambda z t} - e^{-\lambda z t})^{\sigma-o} dt \\ &\quad \times \int_0^1 t^{(\sigma+r)(p-1)}(1-t)^{(\sigma+s)(q-p-1)} (e^{\lambda z t} - e^{-\lambda z t})^{\sigma+o} dt. \end{aligned} \quad (9)$$

By (8) and (9), we obtain

$$\begin{aligned}
[{}_1\text{Supersinh}_1(\sigma p; \sigma(q-2)+2; \lambda z)]^2 &\leq \frac{\{\Gamma[\sigma(q-2)+2]\}^2}{\{\Gamma[\sigma(p-1)+1]\}^2\{\Gamma[\sigma(p-q-1)+1]\}^2} \\
&\times \frac{\Gamma[(\sigma-r)(p-1)+1]\Gamma[(\sigma-s)(q-p-1)+1]}{\Gamma[(\sigma-r)(p-1)+(\sigma-s)(q-p-1)+2]} \\
&\times \frac{\Gamma[(\sigma+r)(q-1)+1]\Gamma[(\sigma+s)(q-p-1)+1]}{\Gamma[(\sigma+r)(p-1)+(\sigma+s)(q-p-1)+2]} \\
&\times {}_1\text{Supersinh}_1[(\sigma-o)p; (\sigma-s)(q-p-1)+2; \lambda z] \\
&\times {}_1\text{Supersinh}_1[(\sigma+o)p; (\sigma+s)(q-p-1)+2; \lambda z].
\end{aligned} \tag{10}$$

Furthermore, if $g_1 = \sigma(p-1)+1$, $g_2 = \sigma(q-p-1)+1$, $g_3 = \sigma p$, $h_1 = r(p-1)$, $h_2 = s(q-p-1)$, and $h_3 = op$, then (10) can be expressed as

$$\begin{aligned}
[{}_2\text{Supersinh}_1(g_3; g_1+g_2; \lambda z)]^2 &\leq \frac{[\Gamma(g_1+g_2)]^2}{[\Gamma(g_1)]^2[\Gamma(g_2)]^2} \frac{\Gamma(g_1-h_1)\Gamma(g_2-h_2)}{\Gamma[(g_1-h_1)+(g_2-h_2)]} \frac{\Gamma(g_1+h_1)\Gamma(g_2+h_2)}{\Gamma[(g_1+h_1)+(g_2+h_2)]} \\
&\times {}_2\text{Supersinh}_1[g_3-h_3; (g_1-h_1)+(g_2-h_2); \lambda z] \\
&\times {}_2\text{Supersinh}_1[g_3+h_3; (g_1+h_1)+(g_2+h_2); \lambda z].
\end{aligned} \tag{11}$$

Thus, by gamma and beta functions [13]

$$B(s, o) = \frac{\Gamma(s)\Gamma(o)}{\Gamma(s+o)} \quad s, o > 0, \tag{12}$$

Turán-type inequality is given by

$$\begin{aligned}
[{}_1\text{Supersinh}_1(g_3, g_1; g_1+g_2; \lambda z)]^2 &\leq \frac{B(g_1-h_1, g_2-h_2)B(g_1+h_1, g_2+h_2)}{[B(g_1, g_2)]^2} \\
&\times {}_1\text{Supersinh}_1[g_3-h_3, g_1-h_1; (g_1-h_1)+(g_2-h_2); \lambda z] \\
&\times {}_1\text{Supersinh}_1[g_3+h_3, g_1+h_1; (g_1+h_1)+(g_2+h_2); \lambda z],
\end{aligned} \tag{13}$$

for $g_1 > |h_1|$, $g_2 > |h_2|$, and $|z| \leq 1$.

Meanwhile, if $\sigma = 1$, then (10) can be shown as

$$\begin{aligned}
[{}_1\text{Supersinh}_1(p; q; \lambda z)]^2 &\leq \frac{[\Gamma(q)]^2}{[\Gamma(p)]^2[\Gamma(q-p)]^2} \frac{\Gamma[p-r(p-1)]\Gamma[(q-p)-s(q-p-1)]}{\Gamma[q-r(p-1)-s(q-p-1)]} \\
&\times \frac{\Gamma[p+r(p-1)]\Gamma[(q-p)+s(q-p-1)]}{\Gamma[q+r(p-1)+s(q-p-1)]} \\
&\times {}_1\text{Supersinh}_1[(1-o)p; q-r(p-1)-s(q-p-1); \lambda z] \\
&\times {}_1\text{Supersinh}_1[(1+o)p; q+r(p-1)+s(q-p-1); \lambda z].
\end{aligned} \tag{14}$$

Finally, suppose $r(p-1) = \chi$, $s(q-p-1) = \varpi$, $op = \delta$, $q-p > |\varpi|$, and $|z| \leq 1$. Then

$$\begin{aligned}
[{}_1\text{Supersinh}_1(p; q; \lambda z)]^2 &\leq \frac{B(p-\chi, q-p-\varpi)B(p+\chi, q-p+\varpi)}{[B(p, q-p)]^2} \\
&\times {}_1\text{Supersinh}_1[p-\delta; q-(\chi+\varpi); \lambda z] \\
&\times {}_1\text{Supersinh}_1[p+\delta; q+(\chi+\varpi); \lambda z].
\end{aligned} \tag{15}$$

Therefore, (4) can be proved.

3. Proof of Theorem 2

Now, we concentrate on the proof of Theorem 2.

Let $\alpha(t) = t^{p-1}$, $\beta(t) = (1-t)^{q-p-1}$, and $\gamma(t) = \frac{1}{2}(e^{\lambda z t} + e^{-\lambda z t})$. Then

$$\begin{aligned} \frac{\Gamma(p)\Gamma(q-p)}{\Gamma(q)} {}_1\text{Supercosh}_1(p; q; \lambda z) &= \frac{1}{2} \int_0^1 t^{p-1} (1-t)^{q-p-1} (e^{\lambda z t} + e^{-\lambda z t}) dt \\ &= \int_0^1 \alpha(t) \beta(t) \gamma(t) dt. \end{aligned} \quad (16)$$

Based on (1), we have

$$\begin{aligned} \left[\int_0^1 t^{\eta(p-1)} (1-t)^{\eta(q-p-1)} (e^{\lambda z t} + e^{-\lambda z t})^\eta dt \right]^2 &\leq \int_0^1 t^{(\eta-r)(p-1)} (1-t)^{(\eta-s)(q-p-1)} (e^{\lambda z t} + e^{-\lambda z t})^{\eta-o} dt \\ &\quad \times \int_0^1 t^{(\eta+r)(p-1)} (1-t)^{(\eta+s)(q-p-1)} (e^{\lambda z t} + e^{-\lambda z t})^{\eta+o} dt. \end{aligned} \quad (17)$$

By (16) and (17), we get

$$\begin{aligned} [{}_1\text{Supercosh}_1(\eta p; \eta(q-2)+2; \lambda z)]^2 &\leq \frac{\{\Gamma[\eta(q-2)+2]\}^2}{\{\Gamma[\eta(p-1)+1]\}^2 \{\Gamma[\eta(q-p-1)+1]\}^2} \\ &\quad \times \frac{\Gamma[(\eta-r)(p-1)+1] \Gamma[(\eta-s)(q-p-1)+1]}{\Gamma[(\eta-r)(p-1)+(\eta-s)(q-p-1)+2]} \\ &\quad \times \frac{\Gamma[(\eta+r)(p-1)+1] \Gamma[(\eta+s)(q-p-1)+1]}{\Gamma[(\eta+r)(p-1)+(\eta+s)(q-p-1)+2]} \\ &\quad \times {}_1\text{Supercosh}_1[(\eta-o)p; (\eta-r)(p-1)+(\eta-s)(q-p-1)+2; \lambda z] \\ &\quad \times {}_1\text{Supercosh}_1[(\eta+o)p; (\eta+r)(p-1)+(\eta+s)(q-p-1)+2; \lambda z]. \end{aligned} \quad (18)$$

After that, let $j_1 = \eta(p-1)+1$, $j_2 = \eta(q-p-1)+1$, $j_3 = \eta p$, $k_1 = r(p-1)$, $k_2 = s(q-p-1)$, and $k_3 = op$. Then we obtain

$$\begin{aligned} [{}_1\text{Supercosh}_1(j_3; j_1+j_2; \lambda z)]^2 &\leq \frac{[\Gamma(j_1+j_2)]^2}{[\Gamma(j_1)]^2 [\Gamma(j_2)]^2} \frac{\Gamma(j_1-k_1) \Gamma(j_2-k_2)}{\Gamma[(j_1-k_1)+(j_2-k_2)]} \frac{\Gamma(j_1+k_1) \Gamma(j_2+k_2)}{\Gamma[(j_1+k_1)+(j_2+k_2)]} \\ &\quad \times {}_1\text{Supercosh}_1[j_3-k_3; (j_1-k_1)+(j_2-k_2); \lambda z] \\ &\quad \times {}_1\text{Supercosh}_1[j_3+k_3; (j_1+k_1)+(j_2+k_2); \lambda z]. \end{aligned} \quad (19)$$

What's more, for $j_1 > |k_1|$, $j_2 > |k_2|$, and $|z| \leq 1$, by (12), we have

$$\begin{aligned} [{}_1\text{Supercosh}_1(j_3; j_1+j_2; \lambda z)]^2 &\leq \frac{B(j_1-k_1, j_2-k_2) B(j_1+k_1, j_2+k_2)}{[B(j_1, j_2)]^2} \\ &\quad \times {}_1\text{Supercosh}_1[j_3-k_3; (j_1-k_1)+(j_2-k_2); \lambda z] \\ &\quad \times {}_1\text{Supercosh}_1[j_3+k_3; (j_1+k_1)+(j_2+k_2); \lambda z]. \end{aligned} \quad (20)$$

Afterwards, if $\eta = 1$, then (18) can be shown as

$$\begin{aligned}
[_1\text{Supercosh}_1(p; q; \lambda z)]^2 &\leq \frac{[\Gamma(q)]^2}{[\Gamma(p)]^2[\Gamma(q-p)]^2} \frac{\Gamma[p-r(p-1)]\Gamma[(q-p)-s(q-p-1)]}{\Gamma[q-r(p-1)-s(q-p-1)]} \\
&\times \frac{\Gamma[p+r(p-1)]\Gamma[(q-p)+s(q-p-1)]}{\Gamma[q+r(p-1)+s(q-p-1)]} \\
&\times [_1\text{Supercosh}_1((1-o)p; q-r(p-1)-s(q-p-1); \lambda z)] \\
&\times [_1\text{Supercosh}_1((1+o)p; q+r(p-1)+s(q-p-1); \lambda z)].
\end{aligned} \tag{21}$$

Lastly, for $r(p-1) = \psi$, $s(q-p-1) = \beta$, $op = \vartheta$, $q-p > |\beta|$, and $|z| \leq 1$, by (12), (21) can be written as

$$\begin{aligned}
[_1\text{Supercosh}_1(p; q; \lambda z)]^2 &\leq \frac{B(p-\psi, q-p-\beta)B(p+\psi, q-p+\beta)}{[B(p, q-p)]^2} \\
&\times [_1\text{Supercosh}_1(p-\vartheta; q-(\psi+\beta); \lambda z)] \\
&\times [_1\text{Supercosh}_1(p+\vartheta; q+(\psi+\beta); \lambda z)].
\end{aligned} \tag{22}$$

Thus, (6) is true.

Acknowledgements

This work is supported by the Yue-Qi Scholar of the China University of Mining and Technology (No.102504180004).

Conflict of Interest

There is no conflict of interest in this work.

References

- [1] Laforgia A and Natalini P. On some Turán type inequalities. J Inequal Appl. 2006; (2006): 29828.
- [2] Barnard RW, Gordy MB and Richards KC. A note on Turán type and mean inequalities for the Kummer function. J Math Anal Appl. 2009; 349(1): 259-263.
- [3] Szegő G. On an inequality of P. Turán concerning Legendre polynomials. B Am Math Soc. 1948; 54(4): 401-405.
- [4] Turán P. On the zeros of the polynomials of Legendre. Macromol Chem Phys. 1950; 75(3): 113-122.
- [5] Li X, Mohapatra RN and Rodriguez RS. Bernstein-type inequalities for rational functions with prescribed poles. J Lond Math Soc. 1995; 51(3): 523-531.
- [6] Li XJ and Vaaler JD. Some trigonometric extremal functions and the Erdős-Turán-type inequalities. Indiana U Math J. 1999; 183-236.

- [7] Mortici C. Turán-type inequalities for the Gamma and Polygamma functions. *Acta Universitatis Apulensis*. 2010; 23: 117-121.
- [8] Baricz Á and Koumandos S. Turán-type inequalities for some Lommel functions of the first kind. *P Edinburgh Math Soc*. 2016; 59(3): 569-579.
- [9] Geng LL, Yang XJ and Liu JG. Turán-type inequalities for the supertrigonometric functions. *Math Method Appl Sci*. 2022; 45(7): 3514-3519.
- [10] Geng LL and Yang XJ. Turan-type inequalities for two hypergeometric supertrigonometric functions associated with Kummer confluent hypergeometric series of first type. *Int J Geom Methods M*. 2022.
- [11] Bhandari PK and Bissu SK. Turán-type inequalities for Gauss and confluent hypergeometric functions via Cauchy-Bunyakovsky-Schwarz inequality. *Commun Korean Math S*. 2018; 33(4): 1285-1301.
- [12] Kummer EE. Über die hypergeometrische Reihe. *J Reine Angew Math*. 1836; 15: 39-83.
- [13] Abramowitz M and Stegun IA. *Handbook of mathematical functions with formulas, graphs, and mathematical tables*. US Government printing office. 1948, 55.
- [14] Yang XJ. *Theory and Applications of special functions for Scientists and Engineers*. Springer: Singapore; 2021.
- [15] Yang XJ. *An Introduction to Hypergeometric, Supertrigonometric, and Superhyperbolic functions*. Academic Press; 2021.